Paper: B.E_B.Tech
Set Name: |ltem25
Exam Date: | 29 July 2022
Exam Shift: | 1
Langauge: | Telugu
Topic: Mathematics-Section A
Item No: 1
Question
D- 100201
Question
Type: MCQ
Quest R={(a, b):b=pg, a)® p HBED qev [HFed Soggen > 3} odyger {1,2,3, ..., 60} S8
uestion:
$008 & JDWEE Ko Dooko R wdSol. e R Hrowe dogy :
A: 600
B: 660
C: 540
D: 720
Topic: Mathematics-Section A
Item No: 2
Question ID: 100202

Question Type: | MCQ

Question: | 7 =2 43j @wond z° + (7)° =:
A: 244

B: 224

C: 245

D: 265

Topic: Mathematics-Section A

Item No: 3

Question ID: | 100203

Question MCQ

Type:




AB 2.8 $rdy @35 3x3 odhgn, Adcin Ben Botk &gl a0 Sm@lodsiod.

Question: @éojacﬁa :

A: AX =039%H S 8sere eééé:g% @éﬁé}%é AP0

B: AX =0T K5558 ©oHBY AEe00ti

C: Ba¥ EPwohne Smo@E

D: adj(A) .8 DPMoHKe L@

Topic: Mathematics-Section A

Item No: 4

Question | 490204

Questi

T;Jpees on MCQ

1 i 1 T 8 : . T , ©oN3, a BE)

Question: | (20 —a)(40 —a) (40 —a)(60 —a) (180 —a)(200 —a) 256
5% Do :

A: 198

B: 202

C: 212

D: 218

Topic: Mathematics-Section A

Item No: 5

Questi

ID‘feS 'on 1100205

Questi

T;]pees on MCQ

Question: | [im %€ Y BE T YSINX _ 2 e oy e R, wiipt Bod TmEEF 98 $BHE 5% ?
x—0 rsin© x 3

A: o2+ B2 +y2=6

B: af +By+ya+1=0




C: 51[32+B72+'y0¢2+3=[]
Topic: Mathematics-Section A
Iltem No: 6
Question ID: 100206
Question Type: | MCQ
. % 1
Question: | S5egeiso | : dx = :
5 3 4+ 2 sinx + cosx
A: tan—1(2)
B: tan"1(2) - =
4

1
c: “tan"1(2) - =

2 3
D: l

2
Topic: Mathematics-Section A
Item No: 7
Question
D- 100207
Question
Type: MCQ

(1+ ezx)[d_y . y} _ 1 ostes $Esn &5 y=y@) [o, g} Dothd Home o
Question: dx
0808, ©H, lim e“y(x) =:
X—yeo
A: E
4

B: 3w




C: E
2
D: 3_11.
2
Topic: Mathematics-Section A
Item No: 8
Question
D- 100208
Question
Type: MCQ
4
bx +10y —8=0 80 2x—3y=0, beR - {5] Do IS Hore 9% By L eoHSol.
Question: 2 yz
L S (1, 1) Dot Mome e, 17(x2+y?) =16 H)zo) 5°88, i i B8
b
ﬁé&o@sé ;
2
A: e
J5
B: E
5
1
C: _—
J5
D: g
b
Topic: Mathematics-Section A
Iltem No: 9
Question
D- 100209
Question MCQ

Type:




P:2v+my+nz=4, 800 A(-1,4,3) Do $od eocs JEo [_ 2 7 EJ wad, 3,

Question: 2 2
-1, —4 &3 &)@@wm ZOAS D8 SErostorr 095 P oo Hod A Dok &rdo :
A: 1
B: J26
C: 2
D: J14
Topic: Mathematics-Section A
Iltem No: 10
Question
D- 100210
Question
Type: MCQ
— A A — A A A — (-) _>) - -
a =3i+ %000 b=1i+2j+k o8& axlbxcl=b+rcd & 583w
Question:
- — —
c a8 568 o808, b HHBED ¢ ISTodTeen 9%3:6&, A Qend ;
A: -5
B: 5
C: 1
D: -1
Topic: Mathematics-Section A
Iltem No: 11
Question
D- 100211
Question
Type: MCQ
a8 4555 3508 astiSimo, Do) A a¥bo BH o HBKD A 8 SEHE Fd 9 DD
Question:

ErSosk &%) B&othsy ok cos—l[ ) . 8ot B, g0 Loo& 15 credéy ErSosh

2
NiE)

ﬁoég, cota =




W[ | Wk (GO ||

Topic: Mathematics-Section A

Item No: 12

Question ID: 100212

Question Type: | MCQ

Question: 2POIHS $5PK%0 (pAq) = (p AT) B8 Dd&exo :

A q=(pAr)

B: p=(pAar)

C: pArr)=(pPArq)
D: pAaq)=r1

Topic: Mathematics-Section A
Iltem No: 13

Question

D- 100213

Question

Type: MCQ

A(a, 3), B(b, 5) 508¢&0 C(a, b), a> b en doeeore So (Bgbes H6SoEo P(1, 1) @808, AP
B2 BC O Q(ky, k,) Hotosy Eég &O&_é),, ki +k,=:

Question:

A: 2

B: E
7




C: g
7
D: 4
Topic: Mathematics-Section A
Iltem No: 14
Question
D: 100214
Question
Type: MCQ
M N T
a 080 b Bo JHhdewn, & é;cﬁeg o0 3 508,
Question:
(" “") A A (A A) 3
a + b/ 0835 (a +2b +2\a x b)) S0 D&y &0 0 ®owd, 164 cos20 Jensd :
A: 0 + 272
B: 45 + 1842
c: 90 + 32
D: 54 + 902
Topic: Mathematics-Section A
Iltem No: 15
Question ID: 100215

Question Type: | MCQ

Question: f(ﬂl) = I hg_l'ﬂt dt, « >0, @ng f(e3) +f(e—3) = -
1 LEE
A: 0
B: 2
2
9
C:

log. (10)




9

D:

2 log. (10)
Topic: Mathematics-Section A
Item No: 16
Question ID: 100216
Question Type: | MCQ
Question: {(I, y) |I s 1| - y < ,,,‘5 i xz] @’3'@"«5’ @*B'”EJ&D =
A: E =1 [2) o l

2 5 2
B: 5_11- — E

4 2
C: 3_11- + E

4 2
D: 5_1T — 1

4 2
Topic: Mathematics-Section A
Item No: 17
Question
D: 100217
Question
Type: MCQ

P: 1 =4x Soedeodd 8 &g, L:y=mx+c, m> 03y Soad Soedecied) M Hscsks N
. HothHe 5 ZendpodsHoelold. LT H: 12— 2 =408 Soodecsirdd én)ég'c'iaa W08, P
QUESION' | somsernts 8o O £BASH &5 - oo i) H @t T8 Feond, OMEN sésye
S0 = :

A 2.6
B: 2+/14
c: 46




D: 4./14
Topic: Mathematics-Section A
Item No: 18
Question ID: | 100218
Question
Type: MCQ
(H3oko f: R - R,
Question:
f(x)=|x—1|cos|x—2| sin| x— 1| + (x —3)|x2—5x + 4|, ®SBebo =2V HoHHe Jdogy :
A: 1
B: 2
C: 3
D: 4
Topic: Mathematics-Section A
Item No: 19
Question
D- 100219
Question
Type: MCQ
S={1, 2, 3, ..., 2022}. @O [0 S ol AL yhBorr ANHH Do , 5. .50,
Question: [ } q;}’?, %) o, S B
(n, 2022) =1 edger Ko HogrPss
A: ﬂ
1011
B. 166
1011
c. 127
337
D: 112
337
Topic: Mathematics-Section A

Iltem No:

20




Question ID: | 100220
Question
Type: MCQ
2_m3 i
f(x)=30""2"74 y ¢ R 00808, &dptd 8od [HELI0E® DD Joe ?
P : f GwE) P8 8 Aot x=0
Question: @
Q: fGw¥) 888 (inflection) HotHi) x = 2
R: x>+2 & f' &80 oo
A: P $0805%0 Q Soo(g83
B: P 508050 R &m(&0
C: Q £80%» R &>
D: P, Q &0005» R &)
Topic: Mathematics-Section B
Item No: 21
Question
D: 100221
_(I?;Jpees:tion Numeric Answer
, S={0 € (0, 2m) : 7 cos?0 — 3 sin%0 — 2 c0s?20 = 2}. @808, @ x2—2 (tan’ + cot?6)x + 6
Question:
sin20 =0, 6 € S &) H8nESere Surere 080
Topic: Mathematics-Section B
Item No: 22
Question
D: 100222
?ues.tion Numeric Answer
ype:
20 $080J0 1y, Xy, . . ., Xyy T0F) B0 HHBAD DB SKBP 15 H63» 9 wHE0d.
Question: | c e R8 (x;+a)% (,+a)? .. ., (xpy+a)? DKoo 178 wond, a GwE) K63 Jend @o¥)
NBo =
0
Topic: Mathematics-Section B

Item No:

23




Question

D- 100223
_I(?;pees:tion Numeric Answer
3, =1, 2b &8 b, a, —2 &3 K)?’.%)@enm KRS Bo Taend ©oormr ﬁécl Ty &3°
. +1 -2
Question: K)?’.B@a} a, —4da, —7 58084, ; 7 = g 7 = & T, x—y+z=0 B0o0& poXd
a~ +b a- —b 1
DotdD (o B, y) OB, o+ B+y Dend =
Topic: Mathematics-Section B
Iltem No: 24
Question ID: 100224

Question Type: | Numeric Answer

oo
I dp _ —_
Question: a,, Ay 2y, . . . 28 OYIA. Z o = 4, o8 4a, =
Topic: Mathematics-Section B
Iltem No: 25
Question
D- 100225
?ues.tion Numeric Answer
ype:
1
42 + —J D S'.Jn)éeaé'e o emodt, B Hod 0SS Hso & IS8
[ B) @ P
Question: .
008 08 HSod Ko AYPE He:1 ©F0E. GG Dol &S Hdo % WOV, a=
Topic: Mathematics-Section B
Iltem No: 26
Question
D- 100226
_?;pees:tion Numeric Answer
Quest 0 Boe 1 Leersrenre ZOR 5B o) Sorore o ad (DRI éoaaérw e 3x 3 81
uestion:

Se|BEe 50&35




Topic:

Mathematics-Section B

Iltem No: 27
Question
D- 100227
1Q_ue§tion Numeric Answer
ype:
p S000 p+2en (DEPd Koggen B
pl (p+ D! (p+2)
Question: A= (p + 1)' (p + 2)' (p + 3)' @2635:»50&
p+2)! (p+3)! (p+ 4)
p? 08050 (p+2)P Botr A FrROTER, a KBk B o KBY Devse Iwdo =
Topic: Mathematics-Section B
Iltem No: 28
Question ID: | 100228
?ues.tion Numeric Answer
ype:
1 1 1 1
: + + e il = , ®ond 34 k
Question: 2x3x4 I xXaAxh 4x5%X6 100 x 101 x 102 101
Topic: Mathematics-Section B
ltem No: 29
Question
D- 100229
?ues.tion Numeric Answer
ype:
Questi S=1{4, 6, 9} &Ba» T={9, 10, 11, ..., 1000} 9058804, A={a1 F05 TR k e N, ay, a,,
uestion:
8y, ..., 2y € S}, ®aB, T—A SD0&SN o) Hrosre InEo =
Topic: Mathematics-Section B
Iltem No: 30
Question
D- 100230
Question

Type:

Numeric Answer




y=x+1 TOgp® ¢ : x+y?-2-6yt+a=0 HE SEw B 8Aomo

Question: | ¢, : 5x2+5y? +10gx +10fy +38=0 ©H&%&. ¢, HE T3Igo r, ®oNd a+6r?
Topic: Physics-Section A
Item No: 31
Question
D: 100231
Question
Type: MCQ

ABed A @ (B Dothy GBwE) Ef’@maﬁgé SPOn 0SB SEPEHER. 283 (£558 ot

3
TgIBED 1 B oS poowd T =K F’% o&odborr KOG, K
G2
Question:
©RH0 DB,

ARV R : oo f{)ﬁﬁeazéa &8 R.H.S. HAEIJD éhen, SPeNIR Vo0HoNID TOY.

2 DB G)A, 8ol onpdd aTraod® wdiod $BEHG :
A ASBa0 R e 90G@ED HB0HH R 08d A @nd) SBGS ddes
B: A B0 R en HHG@ED S R eodd A @nd) HBGHS Db S8
C: NAXBe A JBGDHIG = AdBes R so8%.
D: Q5B A $OTHBH T R BB R HOTL6.
Topic: Physics-Section A
Item No: 32
Question
D 100232
Question
Type: MCQ

28 o8 IS DBS 008 h AED THBooh. BB ©d P8 MHIHE LB
Question:

Botss SSps B agn S vtodhsne S :
3




A: ﬁ_l

JZ 41

5 ¥3 =42

V3 +42

g3 =1

C: =
J3+1
D: l
3
Topic: Physics-Section A
Item No: 33

Question ID: 100233

Question Type: | MCQ

Question: t = ‘Jz + 4, [%]1;4 .

A 4
B SV

C 8

D 16

Topic: Physics-Section A
Item No: 34

I%‘feS“O” 100234

Question
Type: MCQ




D50’ 508 Difore 2.8 A KoEd s DensHftes S 690, m (BagoeR o el
B e 56 v &b BAPBRHE. & Bod o JESw, fa¥ed GwoE) By S o oo
(D855 (N) Basn By H& (v) Do VoL0FHKND JSAROH.

Question:
N
A:
Vv
N
B:
V
N
C:
v
N
D:
V
Topic: Physics-Section A
Iltem No: 35
Question

ID:

100235




Question

Type: MCQ
88es505% 60° Eexknd®, K848 E Ko, a¥ 208 ($E10ITH. wond @ 008 oY) weiod
Question:
QS Ko K8IS :
A: SV
B: E
2
C: E
4
D: E
Topic: Physics-Section A
Item No: 36
Question
D: 100236
Question
Type: MCQ
1 kg 0050 3 kg (ESoeHen Ko ShHo FS SO0 BKOSM 1 +2] + k 5605
QUESIONT | _37 —2] + & ocvd & S5 @8 (655078 ols s ¥6¥ $osrwE (B08 D $6%
D0 NRHE) JPH0HE 0l ?
AL A A
A: i +2j +k
ALA A
B: -3i —2j +k
A A
c: —-2i +2k
AL A A
D: -2i — j +2k
Topic: Physics-Section A
Item No: 37
Question ID: (100237
Question MCQ

Type:




DEBes A: I/ Ado Sg S DBBen IBE eS80 S0 Y.

Question: Q5B R: QotHgod SrIAE H8cke ﬁg@%seamm 1% Eleadmerid.
2 D80 A, Bod amraod® DB SOTI6 :
A: AHBdim R &0 HB8GHID 088w R @Hodd A ci‘o}éé OGS DXBed
B: ADBS® R e 5{3@353’) =0 R @0558 A (fméé ﬁ&@)é DNBes 50
C: A JBGHI8 =20 R J0GHSE 50
D: A D06 =00 =2 R QOGS
Topic: Physics-Section A
Item No: 38
Question ID: | 100238
Questi
T;pees: on MCQ
Question: 2,838 &K FEH%0 B@o?’.g) 3% @5ﬁ°t5£§)g_ Qe 3’@3 e émg?’.g) c%Hoh Keedsw :
A ©O03 &otnod
B: S0XO Dend 8 Ty eH&od
1

C: 0SB Jendst 1 S Hoh @HSHod
D: S0RH e 4Téy ©HS0H
Topic: Physics-Section A
Iltem No: 39
Question | 100239
Questi
T;pees: on MCQ

LErED Ko 2.8 oo Sostnt s et 608 Berdbdms. & Tsin ansn
Question:

3‘@:6&_ ?{Dtéqea 389 Ssc.‘g@ BobE IKod. wond & e’ o & &omégzé PO




A: 2m,/L/ (g cosa)
B: 2m\/L/(g sina)
C: 2w /L/g
D: 2m,/L/ (g tana)
Topic: Physics-Section A
Item No: 40
Questi
Do 1100240
Questi
TyupeeS on MCQ

2.8 YD sl Qigmrads) e &8 [Bod JolBd Lrdpod Sad do)h.

3 r
() = pO(E - EJ forr<R
Zero for r>R

Question: | r(r < R) 058 So(sm H00d &rdsn (Hersmns® SeRey) P S¢S eSS é@.’-a Qend :
A pr [E _ LJ

4eg \ 4 R
B LR [E _ LJ

| 3¢g \4 R
o

C: —_—




o LR [1 _ i)
B €p R
Topic: Physics-Section A
Item No: 41
Question ID: | 100241
Questi
T;pees: ion MCQ
DEBes 1: %o 508050 ToFED 630800 R Ho 3&5}55 %‘ééa’men %6@0.
Question: DXBes I1: (58 Dothsy égﬁ 3)65055 é{;é&m TSPE 6008000 E ©0ooMT oM.
2 DBeee Faps, (Bod andipdd waraed® odiod SOEIG :
A: NdGes 1 OB DIBes IT HBSHID
B: Soth DSBeaeen I 08k II, IBIHID =08y
c: AXBe I DOGTHIG = JdBes 1T =00
D: D55 1 SBFTDIB ot 0 I5Bes 11 HOFTHE
Topic: Physics-Section A
Item No: 42
Questi
Dot 1100242
Questi
T;pees: ion | \1eq
Botd VLY DS Beden Ko S5 Hfen AL Benderron. 2.83¢ oy 0B 0, &0 T8
Question:
aﬁ?’mée‘éogmgg 8 JoTrRY (Dgrardl aedeEsim
A: —Ul 92
U’l + D'2
B: 2(}'1 )

G'1+U'2




E}'1+CFQ

C:
2[}'1 0'2
D: 01 < v 09
i D
Topic: Physics-Section A
Item No: 43
Question
D 100243
Question
Type: MCQ
8 088 emfE =440 sin100mt s> Y2 H (BB8SED KOAS SocHLNIH EOHTH. a8l
Question: w
ac @3)3@&36):63 & HooHEDSDH ZOHS e b&oiH ¢
A: 44 A
B: 1.55 A
C: 22 A
D: 311 A
Topic: Physics-Section A
Item No: 44
Question
D: 100244
Question
Type: MCQ
1 H (288855 50005 100 O d8Pgknere Ko a8 Srii el 6V argds 5020, HEJ
5508508 : [In2=0.693 S08cS» e~ 3/2=0.25]
Question:
(a) Neoss 8365355 L}éa%‘@émﬁa D0 (Harsiedn B éé%g QDoasadm.
(b) NS ?’%5 oS I ém&é 15 ms & éﬁé;%eﬁé @dﬁ;&&oé g@éaﬁmﬁﬁ&) F& Dend.
A: t=10ms; U = 2 mJ
B: t=10ms; U = 1 m]




C: t=7ms; U =1m]
D: t=7ms; U = 2m]
Topic: Physics-Section A
Item No: 45
Question ID: | 100245
Questi
T;Jpees: on MCQ
&% -1 o3 -1I
[} e
(a) UV 88ewen () BEg0s® grmdE $8880
Queston: | (b)  X- &Beaeen (i) N BgELes
) DEIS (i) ToeeE (PARGED

(d) Sordes SBorEw (iv) ook B Seperd® &) 800 ﬁn)%_ééaa

A ()-(ii), (b)-(i), (c)-(1), (d)-(iv)
B: (a)-(i1), (b)-(1), (c)-(iii), (d)-(iv)
c: (@)-(i1), (b)-(iv), (c)-(iid), (d)-(i)
D: (a)-(iii), (b)-(@), (c)-(ii), (d)-(iv)
Topic: Physics-Section A
Item No: 46
Question 100246
_?;pe;tion MCQ

DES P08 ééoﬁ@_%&ﬁn \ ©@O0H)E0 aeJLsgzés $8I8 E. &8 1838 2E D othérd seed
Aueston: 5088 GOKNORN SLONGEY :
A: hc

EN — hc




B. hch
EN + he
C: L
EN + he
D hch
EN — he
Topic: Physics-Section A
Iltem No: 47

Question ID: 100247

Question Type: | MCQ

PE RS HESPe0HS DO Ho(Baneasin

() Boks 88 Fow $08 IO Fowd HOK

Question:
(i) ©&0o8 283 I Fow Dol IwdB €& Jrand
20ASHD IIES Pherde e AP

A: 34

B: 4.3

C: 1:4

D: 4:1

Topic: Physics-Section A

Item No: 48

%‘feSt'O” 100248

Question
Type: MCQ

e:eoggé.ngcéa éﬁd}géﬁ& SBoNdID e ﬁ@g HBYE 9 Vn’ag éﬁ)gcfmea sﬁéééoggm 8 V.
Question:

VoS © SE0KH) SrERBHS 20aS) :

A: 0.8




B: 0.5

C: 0.2

D: (.

Topic: Physics-Section A

Item No: 49

Question | 100249

_?;pees:tlon MCQ
2.8 (6300 DERDS® 301006 e P Iwdo Dgrrro HVoxy 50 HBAD (PGS eo B

Question: | 1em & 20 QgrrPeOT)o. 2,53 25 SieNevS) "Sogrw Degrrre Dend (HGPD ﬁ)&@oé‘s 24 Qerrre
eNHB ééﬂé@g > 8D S :

A: 0.001 cm

B: 0.002 mm

C: 0.002 cm

D: 0.005 cm

Topic: Physics-Section A

Item No: 50

Question ID: | 100250

Question MCQ

Type:




2.8 85 Tosns SHFHOS [y Ae 8 8b%) B8orbes mer eTon.

P Q

e o |

et

Question:
(A) 2.8 $rB (goeadns? E’\')Jv& BOOIH L (TR '?o&en 2 0.5 mm &S0 228R06.
(B) Mol ?)27&13';'.3 o Swdo grrren =50
(C) Eees e 8&ord 2.5 mm
(D) 45 & $HolEd Ten griisn dégDodos.
(E) 6885w 0.03 mm &850 Sod.
wond &K KoL :

A: 2.92 mm

B: 2.54 mm

C: 2.98 mm

D: 3.45 mm

Topic: Physics-Section B

Item No: 51

Questi

Dot 1100251

Question

Type:

Numeric Answer




u &9 308° 2.8 $0HE O’ § Pens® (HEDoDTH. TR Sodin, E8e: SSToSS B )

R KOHOM™ ¢otoiéy Ao, T8 §8es Dirods e SKEn G0ty FHEnodTed,

Question:
O BoRoB DJcHZNS® &0 Sk SSwSore ET0D. o3 BoXS S0 @’Jéﬁjoi’)zé
855w &lAen.
Topic: Physics-Section B
Iltem No: 52
Question
D- 100252
_?;pees:tion Numeric Answer
g aH0800nd h@@é‘a 2.8 Soth (5:50°8 HFPD0ND ﬁ)&@‘sédﬂea &eBeacin H8aHd ghedd
Question: | %% g 6588w o0& oh $*&° (h << R,) d5rdsn @S o Jend
(R,=6400 km)
Topic: Physics-Section B
Iltem No: 53
Question
D- 100253
1Q_ue§tion Numeric Answer
ype:
28 BEHEETe0E PO [1 = ZJ 565550 P, 20805 ol d,, DE oD e:6AS (HBAHSE
5 5}
Question: | &B&orr P,(>P;) &8a50 d, eore &r05D. DOAS aRPE Fnsd eRFHES Béxn
dp
0HHob. (—= =32)
dq
Topic: Physics-Section B
Iltem No: 54
Question
D- 100254
Question

Type:

Numeric Answer




2.8 Tren D DBKPeE TN Hxed Jrene EDNBETENE TPANHID EDHTD, R

2

Question: | 5568meiior B & DFHDH w0 DEPFED —-R J/mol K; ood o Dens

(Assume that the given diatomic gas has no vibrational mode)
Topic: Physics-Section B
Item No: 55
Question ID: 100255
Question Type: | Numeric Answer

[ SeoHdns® BSPRY) Deg® (Haesieain 1 A.
9 9 () 9 ()
Question: M M M
In
| |
I 1
6V

Topic: Physics-Section B
Item No: 56
Question
D- 100256
_?;pees:tion Numeric Answer

5 cm TegRrEEnKe ¥ KB Sépd HolEd 8K SoEdotd) £ 65NN wAHIod

Q [5) & G [ @Q

Question: | SB5 37.68x 1074 T wond & SKDHHER D8 (Barsrsn A.

[Soéne Sogy=100 m=3.14]
Topic: Physics-Section B
Item No: 57
Question
D- 100257
_(I?;pees:tion Numeric Answer




41 0080 91 é@ﬁé@a Ko Dot 5°08 Hoesine BB B8 BohI. 58 BzEssnen,

Question: Doty ABE DI BAG m e a3 ©and & Botd HothHe 08 DO é@é@é’af{) ot
o L
Topic: Physics-Section B
Item No: 58
Question
D: 100258
_?ues.tion Numeric Answer
ype:
14 A D58 (Baededon OACHHK) 2.8 314 0.8, TS B Ho HELore Sre)TD.
Question: | eond e B @) WaLINOE (grEBK0 A-m?,
[Given 7=23.14]
Topic: Physics-Section B
Item No: 59
Question
D: 100259
?ues.tion Numeric Answer
ype:
3ot @vécﬁt’gé M, 08050 M, dird8dnen X-Y dodn Ko &’szés é&)ﬁdﬁma\f&& Z=0¢& M,
Boot) | Bef5S iHeatson V2 B Z<0 chotd M, Fnog) SE5SS theesm 3, M, & 2.8
Question: . R R R
P08 888w P =443 — 343 —5k & SHTom SoSnpd HS550 TobIG. ©onsd M,
D 585 e HBoH M, 5% 85558 Sedmwed® Ko B &(A.
Topic: Physics-Section B
Item No: 60
Question
D: 100260
_?ues.tion Numeric Answer
ype:
p-n S068 @%om Ko @S855S (e::ﬁegﬁciiﬁ) ééécfm 0.6 V. @003 6x10_6m5c‘§®°}) Ko 8D
Question:

[@rodEns® DS F& B x10° N/C.

Topic:

Chemistry-Section A




Item No: 61
Question | 100261
_?;pees:tion MCQ
Question: (8o eedHe essodt, B éoaaé ae)@gﬁen €983053) anBA5D @gé a)_@a’a 983053 SIBIT é“f& 2308
uestion: son 5
A BCL, $0805% SF,
B: NO 8c¢i» H,S0,
c SF, $080% H,S0,
D: BCL, £080% NO
Topic: Chemistry-Section A
Item No: 62
Auestion 409262
_?;pees:tion MCQ
Na(g) t3H5(g) = 2NHy(q)
Question: e R
D 35D KdJoSod.  SBE* ©HeE (limiting) SPEE0 HBG BES NH, Srde Sogyg
REJe
A H,, 1.42 moles
B: H,, 0.71 moles
C: Nz, 1.42 moles
D: Nz, 0.71 moles
Topic: Chemistry-Section A
Item No: 63
Question | 499263

ID:




Question
Type: MCQ
2.8 250 mL © §866° 100 mL © 5%(w/v) NaCl [mrserd)) dBEE Scsrthdrdd. %K) @og)
Question:
©e)SH & NaCl [PSepod® &% e AedBomed (stirred well). DB)ES (@eBeasm
A: ODBTPOE J*S
B: O@rgRAE S
C: S 2 5 2.8 DS B05HRHDE0H
. o e
D: OSFH0 ABYEob
Topic: Chemistry-Section A
Item No: 64
Question
D- 100264
Question
Type: MCQ
Na, Mg £00d%» Si © S0 ©0HDEGes QOGP HB3e 496, 737 H$805%0 786 k] mol —1, Al
Question:
Do) Bwsd ©cHIEBL Jogrd) k] mol~lesd
A: 487
B: 768
C: TS
D: 856
Topic: Chemistry-Section A
Item No: 65
Question ID: 100265

Question Type: | MCQ

Question: S Hoireatns® “peas D0eDJ50” DT B8 GODPATS ?
A: é}% B 033850 89 émﬁq;e:és Eﬁ}vé’):ééo o0
B: EISToEV VIS S o&® st B8 Sdten éﬁ&)égo =00




C: QP IEST &g@é ErH08° ©Dod Sndpeken
D: e @DI0E SOOI

Topic: Chemistry-Section A

Iltem No: 66

Question ID: | 100266

Questi

¢ ;pe:: ion MCQ

Question: ©hHE w3 @@&555 208 66565, QD& B0BD ?@aﬁ PO B :
A Zn(OH),

B: ZnO

c [Zn(OH),|2~

D: [ZnO,]?~

Topic: Chemistry-Section A

Iltem No: 67

Question ID: | 100267

Questi

< ;pees: ion MCQ

Question: | &GDO 05_@65 LB WEaho JBSo It Iore IEBVEHE B SJTe :
A LiNO, £8d5» NaNO,

B: LiO, %8¢ Na,O

C: Li,O 0BG NaNO,

D: LiNO, 0803 Na,O

Topic: Chemistry-Section A

Iltem No: 68

Question | 100268

Questi

g ;pees: ion | \ica




Question. SCl,, O, CIF; 0805w SF, 0% éo@ﬁ ADESre0 R o 2,000 cDEJLSéS 2806 éoaaé
o SEJre -

A: 0,1, 2 HBS» 2

B: 2,1,2 085 0

C: 1,2,2 8asn 0

D: 2,1,0 805 2

Topic: Chemistry-Section A

Item No: 69

Question ID: | 100269

Question Type: | MCQ

Question: & 808 &% woirSe sobed® D& Borkhdds ?

A: Sc3+ Zn2+

B: Ti‘“, 2t

c: v2+ T3+

D: Zn2t, Mn2+

Topic: Chemistry-Section A

ltem No: |70

Question | 100270

_?;pees:tion MCQ
SO For 08O 8 drs8es®, aod eaé@ééea 883088 KMnO, écﬁw‘é@aéﬁ:ﬁo TPTP Y™

Question: | SBrerEBorr SGET wf)Ebnmrdobh. & S5° $rondS edste $8° Fogo &b
o8y :

A: o

B:

C: 0




Topic: Chemistry-Section A

Item No: 71

Question ID: 100271

Question
Type: MCQ

Question: Bob e0bed® Send) 0o B (herbicides) en LPED Kobd 26 ?

A @8 SO &%65
B: BEHo 0 oo wwdS
C: P&a%o @6336.’)’ 0B égfﬁﬁ
D: &oSo §0¢5 0800 AEHo SRS
Topic: Chemistry-Section A
Item No: 72
Question ID: 100272
Question Type: | MCQ
Question: BodTEE® HB wded oS EPSYE 8o ?
H;C
#
A N: CH;
/s N7
H,Cc CH
‘e,
HyC
.
B N:
/N
CH, H
“CH;




<j,_,

N:
C: (\ ;
i
D:
Topic: Chemistry-Section A
Item No: 73
Question ID: | 100273
Questi
T;Jpees: on MCQ
Bod eobred® B LETODT rIY I (Boramren BTN ?
Question:
(Consider the double bonds in the structures are rigid and not delocalized.)
CH, CH,
A
>
CHj; CHj;
CHj CH,
B:
CH;4

CHj




CH, CH,
CH; CH,
C:
«—>
CH, CHj,
D:
«“—>
Topic: Chemistry-Section A
Iltem No: 74
Question
D- 100274
Question
Type: MCQ
AeCN NaCN
:Af < g /\ C]_ a > IBJ’
| B Bty C,H5;0H —H,0 CoHsOH—HoO 500 @it
Question:
D SEd $58890H 5. 533@@60 ‘A’ HdAso :63:3&’;60 ‘B’ 0 SHOJre

. @ © ®@ ©
A: SN N=C P N=C
B: TS C=N, AN C=N

. @ ©
C: o N=¢C N C=N

. @ ©
D: N C=N, SN N=E
Topic: Chemistry-Section A
ltem No: 75
Question ID: 100275




Question Type:

MCQ

OH

Br NH,OH P,O
<> E » A 2 » B it 2
. A
Question:
CHO
B o @B $88DoHEw. Bairedo ‘C G ?
Br Br
A: \Q/
CN
OH
Br Br
B:
CHO
Br Br
C: \Q/
CHO




OH

Br Br

D:
CN
Topic: Chemistry-Section A
Iltem No: 76
Question ID: | 100276
Questi
T;pees: ion MCQ
CH,4
Cl
‘A (CeHCLO) —3 INO ——22
EE—— —_—
Question: ( & e ) C'BHBC O NaOH
H,N
P S0 H588005H5w. 53@9’&2&» ‘A8 ?
O
A: 1 |
O
Cl

B: 1

H,C




¢l
C:
1
CH,
O
H
D:
Cl
CH,CI
Topic: Chemistry-Section A
Item No: 77
Question ID: 100277
Question Type: | MCQ
+ e—
N=NCl

Question:

+IAJ' T

(BoSesigo
(Bfosd Sorfo 502350)

Bod &S HB EESD ‘A7 Q JrD0s ?

OH




OH

B:
NH,
C:
NH»
D:
Topic: Chemistry-Section A
Item No: 78
Question ID: | 100278
Questi
T;pe:: ion MCQ
Bob $85e e@DBEDPY 56490508,
NH,
() AIH(-Bu), , ~CHCHO B
Question: (i) H,0 28 NaOH, A
2 il (FST iy Lécﬁ?aaééo)
CN

Bbrasigo ‘B & ?




A OHC4©7 N=CH-CHj

B: HZN—Q CH=CH-CHO

c: H2N®m2—N=CH—CH3
i

D: HZNO— C—N=CH CHO

Topic: Chemistry-Section A

Item No: 79

Question ID: 100279

Question Type: | MCQ

Question: BobardE® 6 Joesess (hypnotic) oot ?
A: ?355
[}
B: @@@6
C: @5&@5}
D: Erots®s
Topic: Chemistry-Section A
Item No: 80
Question | 100280
Question MCQ

Type:




53}&@’260 X 8 edpsn 80 NaOH ([@edeod® 86ih&hod =20 NaHCO, eSeeos®
Question: | £555¢5. ‘:63)&9’2651» X’ 83 FeCly (Erea08® De&®erd (violet) Sordiy rK B0 éé}g@’éo

r

>
]
&
N

OH

»
Q |« —
m

(s
:

CH,OH
D: é

Topic: Chemistry-Section B
Item No: 81

QLfestion 100281

ID:

Question

Numeric Answer

Type:




a8 TPHEE oo (shd JoroBsn 129 m~1) 745 ppm KCl (°5e008° Q08 God, wd
8855 100 O (o 1 Srdodsadod). of a0¢rQ) 149 ppm KCl (EP5e08° DoDSHE

885w 50 Q (Tedeso 2 e Grdoswdod). [Tedeo 1 50005 ([TrHeo 2 e Jrerd aedrse

Question:
8, Ll = xx1073. ©awd x Devid (88 Frposi)
2
(@96 : KCl Irerd (555078 74.5 g mol ~ 1)
Topic: Chemistry-Section B
Item No: 82
Question
D- 100282
.IQ.ueS_tion Numeric Answer
ype:
B0 AT B0 805rS BT © edirdE aﬁéﬁt:g@ NXdre 102 08cw 181 pm. &s
©EHe a8 ©ddE Hdorr $BE8sno Botos. JBEINE® B~ o b SQYIrE ey
Question:
(cubic close packing) 083 A™ en o) egerid Sorod gEdbohHanow. AB QBEH
O5720¢5 DS @oHERES) pm. (cﬁiéé ?’.gycgoésﬁn)
Topic: Chemistry-Section B
Item No: 83
Question
D 100283
?ues}ion Numeric Answer
ype:
a8 D8 OTEE PED 2a, o @rod50s® (a, =& gPBEn 52.9 pm) Ko cD&JLS;S fafelon
Question: | &S @IS0 _ km s 1,
[BRD : oS (Boe8 =9.1x10"3 kg, &ro§ Rorosn h=6.63x10"34 Js]
Topic: Chemistry-Section B
Item No: 84
Question
D 100284
Question

Type:

Numeric Answer




a8 @;;5&95‘5 600 mL © 02 M HNO;Q 400 mL © 0.1 M NaOH (grdesed8 8005950 @3’5&

Question: ﬁ%mé@‘s e g a1 X]_O_Z s &
(388 dogrd) =57 K mol~!; DB D8Pgo =42]K 1 g1
Topic: Chemistry-Section B
Item No: 85
Question
D- 100285
?ues.tion Numeric Answer
ype:
303 K Eﬁg 0, T*a0Hd H& oo HodoSe 1 e HBSE 55iH 0, ® MOIrSe éoaaeg
Question: . (850 syrrpossn)
[2:5)5 : 303K &6 O, TD Vi YoroLsn 4682k bar $6as» O, HesSsn =0.920 bar]
Topic: Chemistry-Section B
Item No: 86
Question
D- 100286
_?ues.tion Numeric Answer
ype:
PbS (rdBaher ogo §x10-2 wond, 298 K ¢ g JB8S® PbS (@edddfd
Question: | ¥ X107 mol L™ 1 x Dend . (65138 IeTRosim)
(@B6 1 V2 = 1.41)
Topic: Chemistry-Section B
Item No: 87
Question
D- 100287
Question

Type:

Numeric Answer




X 050 Y o ot 200 3Ly X Sore e [EdrroBsin Hdain Y HBore ) (Bkrosin.

(Bod &eroddn efodob.

[X] Y] &% Bewd
@’Jcﬁj"ﬁo -1 -1 = T |
mol L mol L mol L™ " min
Question:
I 0.1 0.1 2x1073
11 1 0.2 4x103
111 0.4 0.4 mx 1073
I\Y 0.1 0.2 2x1073
m 085w 1 Dend K)Y.%jg : (Cﬁfét‘} ?’..gjvt:};oéén)
Topic: Chemistry-Section B
Iltem No: 88
Question
D 100288
_?;pe;tion Numeric Answer
5.5 TDH BErBPE (Bd 30 0D eiired J5)E56) & oD wiire vogy
Question:
085w ?;JEJQE 205 Koy
Topic: Chemistry-Section B
Iltem No: 89
Question
D: 100289
?ues.tion Numeric Answer
ype:
RS EWISS 3858 1.0 g © S0 @SH Zeodre 1, 1, 2, 2-BErE 3r@ oS
(27% HB) )Bob. SKE® KA 1,1, 2, 2-BErE°Se @S HoEreo X10 e,
Question:
(?’.g)vcgoé NenR)
(Brerd (3X50°8 : (%S =80 g/mol)
Topic: Chemistry-Section B

Item No:

90




Question
D 100290
_I(?;pees:tion Numeric Answer
[Fe(CN)(P~ 2.8 @088 esgers Doghsim. #°8@0d (pairing) $8 $6K086°8 S:08°%H0B
Question:
éoﬁ"@ @éﬁ-é g[;é ?’géédm éé Boes A (Cﬁ?é& ngc;o@&)% BB H8D)




